
12763353632

119 60
12228

10 27

124

81

65

1264127

8329

30

113
59

129

133

137

111

11311561D18

586462

130

78

66

120
67

119

A

B

C
86

95



A 131 132 117 79 80 15 121

16

103
17

57

128 73 80

74
77

H
55

119

14 13

114
125

11
E

54

G
F

56

119

B
I

48

75
49

80
72

128

101

76

119

135



32
93

23
89

22
J

24
87

31

100
96

112 K
L

90
53

52

90
53

50
44

1

91

42

130

96

112

51
85

39
88

41
M

84

43 92

11

97134

N

40

C



Item 
No Description EN Qnt.

80 Ball 4 3
81 Knurled knob M6K BN 412 1
83 Nut M5 DIN 557 1
84 O-Ring 10x1,5 90NBR 1
85 O-Ring 12x2,5 90NBR 1
86 O-Ring 14x2 70NBR 1
87 O-Ring 16x1 70NBR 2
88 O-Ring 16x1,5 90NBR 1
89 O-Ring 17x2 70NBR 1
90 O-Ring 17x2 90NBR 4
91 O-Ring 18x2,5 90NBR 1
92 O-Ring 2,5x1,5 90NBR 1
93 O-Ring 3,5x1,5 90NBR 2

95
O-Ring 4,5x1,5 70NBR
O-Ring 5,5x1,5 70NBR
O-Ring 6,5x1,5 70NBR

1

96 O-Ring 8,5x1,5 90NBR 2
97 O-Ring 9x2 90NBR 1

100 Pin 2,5x14h6 DIN 6325 2
101 Pin 2,5x16h6 DIN 6325 1
103 Pin 2,5x8h6 DIN 6325 7
112 Pressure gauge B 2
113 Screw M3x10 DIN 912 3
114 Screw M3x12 DIN 7991 TX 1
115 Screw M3x14 DIN 912 2
117 Screw M3x4 DIN 912 1
118 Screw M3x6 BN 4851 1
119 Screw M3x6 DIN 7991 TX 14

Item 
No Description EN Qnt.

120 Screw M4x10 DIN 7991 10
121 Screw M4x10 DIN 915 1
122 Screw M4x6 DIN 7991 2
124 Screw M4x8 BN 11252 2
125 Screw M4x8 DIN 914 1
126 Screw M5x12 DIN 912 1
127 Screw M5x16 DIN 7991 3
128 Screw M5x6 DIN 913 3
129 Screw M6x20 DIN 912 2
130 Screw M6x6 DIN 913 3
131 Screw M6x8 DIN 913 1
132 Screw M8x8 DIN 915 1
133 Spring Lock Washer 6 DIN 7980 1
134 Spring washer 12,5x6,2x0,7 DIN 2093A 8
135 Trigger fork 2
137 Washer 5 DIN 433 1


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2
	Drawing View3

	Sheet3
	Drawing View4

	Sheet4

